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Statistics : Mean, Median, Ogive, Mode

Exercise

1. Multiple Choice Questions (MCQ) Mode of 9,

12, 15, 18, 21, 25, 27, 7, 8, 3, 11 is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_F34TnB0GMGOZ


A. 3

B. 2

C. 1

D. none of these

Answer:

Watch Video Solution

2. If the mode of 15, 12, 18, 8, 9, 16, 12, x, 18, 10 is

18, then the value of x is

https://dl.doubtnut.com/l/_F34TnB0GMGOZ
https://dl.doubtnut.com/l/_uR8jlRLPrrGn


A. 10

B. 12

C. 18

D. 16

Answer:

Watch Video Solution

3. The mean of a frequency distribution is 8.1, if

fixi = 132 + 5K and fi = 20 then what is the value

of K?

https://dl.doubtnut.com/l/_uR8jlRLPrrGn
https://dl.doubtnut.com/l/_TmxjjxVLJq0A


A. 2

B. 4

C. 6

D. 8

Answer:

Watch Video Solution

4. If the frequency of 12, 15 and 20 are (f + 2), f,

(f -1) respectively and the mean of this

frequency distribution is 14.5, then f =

https://dl.doubtnut.com/l/_TmxjjxVLJq0A
https://dl.doubtnut.com/l/_3pwlexdPFfzR


A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

5. Median of 112, 98, 12, 62, 48, 30, 74, 94 is

A. 50

https://dl.doubtnut.com/l/_3pwlexdPFfzR
https://dl.doubtnut.com/l/_gcU36smHv1q5


B. 64

C. 68

D. 72

Answer:

Watch Video Solution

6. If 35 is removed from the data 30, 34, 35, 36,

37, 38, 39, 40 then the median increased by

A. 0.5

https://dl.doubtnut.com/l/_gcU36smHv1q5
https://dl.doubtnut.com/l/_zFfpm5kXbolA


B. 1

C. 1.5

D. 0.25

Answer:

Watch Video Solution

7. If the median of 20, 19, 7, 9, 17, 16, 11, x, 13 is 15

then the value of x is

A. 17

https://dl.doubtnut.com/l/_zFfpm5kXbolA
https://dl.doubtnut.com/l/_BeRiA7yuUS6f


B. 14

C. 14.5

D. 15

Answer:

Watch Video Solution

8. Arranging the data 9, 10, 12, 15, (a + 1), (a +

3), 32, 35, 36, 40 in ascending order if the

median is 20, then (a + 3) =

https://dl.doubtnut.com/l/_BeRiA7yuUS6f
https://dl.doubtnut.com/l/_mAAqO1Z4AW0K


A. 18

B. 19

C. 21

D. none of these

Answer:

Watch Video Solution

9. The mean of r numbers of terms of a series

is `bary. If the sum of 1st (r - 1) terms is R, then

the rth term will be

https://dl.doubtnut.com/l/_mAAqO1Z4AW0K
https://dl.doubtnut.com/l/_wCfek6hijw3S


A. .

B. 

C. 

D. .

Answer:

Watch Video Solution

rabry − R

rȳ + R

(r − 1)ȳ + R

(r − 1)ȳ − R

10. In a cricket match the runs of 11 players are

14, 30, 43, 32, 12, 50, 58, 20, 0, 36, 37. Then the

median of these euns is

https://dl.doubtnut.com/l/_wCfek6hijw3S
https://dl.doubtnut.com/l/_POvaOn4o6Zg7


A. 30

B. 32

C. 34

D. 36

Answer:

Watch Video Solution

11. Which of the following is not a measure of

central tendency?

https://dl.doubtnut.com/l/_POvaOn4o6Zg7
https://dl.doubtnut.com/l/_gvcvuVuIcsP8


A. Mean

B. Median

C. Mode

D. Standard devition

Answer:

Watch Video Solution

12. The arithmetic mean of 1, 2, 3, ……., n is___

A. n + 1/2

https://dl.doubtnut.com/l/_gvcvuVuIcsP8
https://dl.doubtnut.com/l/_ntdX65ydiHnV


B. n - 1/2

C. n/2

D. n/2 + 1

Answer:

Watch Video Solution

13. For a frequency distribution, mean, median

and mode are connected by the relation

A. Mode = 3 mean - 2 mdian

https://dl.doubtnut.com/l/_ntdX65ydiHnV
https://dl.doubtnut.com/l/_D4wI63aLds5N


B. Mode = 2 Median - 3 Mean

C. Mode = 3 Median - 2 Mean

D. Mode = 3 Median + 2 Mean

Answer:

Watch Video Solution

14. The mean of n observations is . If the first

item is increased by 1, second by 2 and so on,

then the new mean is___

¯̄X̄

https://dl.doubtnut.com/l/_D4wI63aLds5N
https://dl.doubtnut.com/l/_6Nk1xGQTlQsd


A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

¯̄X̄ + n

¯̄X̄ +
n

2

¯̄X̄ +
n + 1

2

15. Mode is____

A. least frequent value

https://dl.doubtnut.com/l/_6Nk1xGQTlQsd
https://dl.doubtnut.com/l/_Nob8bGU05FI3


B. middle most value

C. most frequent value

D. none of these

Answer:

Watch Video Solution

16. If

,

then barx =

ui = , ∑ fiui = 20, ∑ fi = 100
xi − 25

10

https://dl.doubtnut.com/l/_Nob8bGU05FI3
https://dl.doubtnut.com/l/_vVuZ7SvhEki6


A. 23

B. 24

C. 27

D. 25

Answer:

Watch Video Solution

17. The mean of 1, 3, 4, 5, 7, 4 is m. The numbers

3, 2, 2, 4, 3, 3, p have mean m - 1 and median q.

Then p + q equals___

https://dl.doubtnut.com/l/_vVuZ7SvhEki6
https://dl.doubtnut.com/l/_NZypIV7d0kqc


A. 4

B. 5

C. 6

D. 7

Answer:

Watch Video Solution

18. If the median of the data : 24, 25, 26, x + 2, x

+ 3, 30, 31, 34 is 27.5. Then x equals___

https://dl.doubtnut.com/l/_NZypIV7d0kqc
https://dl.doubtnut.com/l/_Vk75B8DeL7to


A. 27

B. 25

C. 28

D. 30

Answer:

Watch Video Solution

19. The mean of a frequency distribution is 8.1,

if fixi = 132 + 5K and fi = 20 then what is the

value of K?

https://dl.doubtnut.com/l/_Vk75B8DeL7to
https://dl.doubtnut.com/l/_oNomWrKJmF9Y


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

20. The mean of first n odd natural numbers is

, then n equals___
n2

81

https://dl.doubtnut.com/l/_oNomWrKJmF9Y
https://dl.doubtnut.com/l/_wfN1GGY7481J


A. 9

B. 81

C. 27

D. 18

Answer:

Watch Video Solution

21. If the mean of 6, 7, x, 8, y, 14 is 9, then___

A. x + y = 21

https://dl.doubtnut.com/l/_wfN1GGY7481J
https://dl.doubtnut.com/l/_PyqZWjsMalcI


B. x - y = 19

C. x + y = 19

D. x - y = 21

Answer:

Watch Video Solution

22. If 35 is removed from the data 30, 34, 35,

36, 37, 38, 39, 40 then the median increased by

A. 2

https://dl.doubtnut.com/l/_PyqZWjsMalcI
https://dl.doubtnut.com/l/_bnZIdbqTcaUW


B. 1.5

C. 1

D. 0.5

Answer:

Watch Video Solution

23. Median of a frequency distribution indicate

graphically with the help of

A. Histogram

https://dl.doubtnut.com/l/_bnZIdbqTcaUW
https://dl.doubtnut.com/l/_Jhd6g0YCqqP2


B. Frequency curve

C. Frequency polygon

D. Ogive

Answer:

Watch Video Solution

24. The mode can be obtained geometrically

from

A. Histogram

https://dl.doubtnut.com/l/_Jhd6g0YCqqP2
https://dl.doubtnut.com/l/_53iWrowKMt52


B. Frequency polygon

C. Ogive

D. Frequency curve

Answer:

Watch Video Solution

25. If the mean of observations

 is , then the mean of 

 is____

xi, x2, ……. , xn x̄

(x1 + a), (x2 + a), …. . , (xn + a)

https://dl.doubtnut.com/l/_53iWrowKMt52
https://dl.doubtnut.com/l/_ctCwY60LtTCx


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x̄

x̄ + a

x̄ − a

ax̄

26. The mode of 15, 17, 16, 16, 15, x, 19, 17, 14 is

15. The value of x is____

https://dl.doubtnut.com/l/_ctCwY60LtTCx
https://dl.doubtnut.com/l/_9qZrDDPnB3Eo


A. 17

B. 16

C. 17

D. 15

Answer:

Watch Video Solution

27. If the mean of a frequency distribution is

8.1 and 

then K =

∑ fixi = 132 + 5K, ∑ fi = 20

https://dl.doubtnut.com/l/_9qZrDDPnB3Eo
https://dl.doubtnut.com/l/_hqOLlelJhKtj


A. 3

B. 4

C. 5

D. 6

Answer:

Watch Video Solution

28. If mode of a series exceeds its mean by 12,

then mode exceeds the median by___

https://dl.doubtnut.com/l/_hqOLlelJhKtj
https://dl.doubtnut.com/l/_4a2W8p1qcTkK


A. 4

B. 8

C. 6

D. 0

Answer:

Watch Video Solution

29. If the difference of mode and median of a

data is 24, then the difference of median and

mean is_____

https://dl.doubtnut.com/l/_4a2W8p1qcTkK
https://dl.doubtnut.com/l/_gE95WQHWlR1w


A. 12

B. 24

C. 8

D. 36

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gE95WQHWlR1w

